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1) 578.38 + 429.87 =
2) 178,801 – 94,209 =
3) 123 x 42 =
4) 1,015 ÷ 7 = 
5)  +  = 
6) 0.871 x 1,000 = 
7) (3 + 5) x 4 = 
8) 1.5km = _____ metres
Daily Practice – 21
1) 691,876 + 327,091 =
2) 217.4 – 76.5 =
3) 72 x 61 =
4) 888 ÷ 6 = 
5)  +  = 
6) 213.8 ÷ 100 = 
7) 56 + c + c = 70         c = ?
8) 25mm = _____ cm
Daily Practice – 20
1) 109.87 + 659.62 =
2) 5,891 – 3,876 =
3) 254 x 35 =
4) 56,185 ÷ 5 = 
5)  +  = 
6) 3.071 x 100 = 
7) 15 – 10 ÷ 5 = 
8) 375 ml = _____ litres
Daily Practice – 19
1) 479,109 + 510,891 =
2) 789.12 – 491.07 =
3) 73 x 45 =
4) 2,964 ÷ 4 = 
5)  +  = 
6) 784.1 ÷ 1,000 = 
7) 32 – a – a = 22	     a = ?
8) 12.4 litres = _____ cm
Daily Practice – 18
1) 741.67 + 971.87 =
2) 12,891 – 2,567 =
3) 135 x 42 =
4) 8,631 ÷ 3 = 
5)  +  = 
6) 12.087 x 10 =
7)  12 + 3 x 3 = 
8) 1200g = _____ kg
Daily Practice – 17
1) 149,753 + 419,473 =
2) 719.01 – 278.49 =
3) 53 x 12 =
4) 8,906 ÷ 2 = 
5)  +  = 
6) 134.98 ÷ 10 = 
7) 42 ÷ b = 7 		b = ? 
8) 2.5 metres = _____ cm
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